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EENBHRFREQBERE

% g & - BARTE Bifg = il ® & i
EENER 19,078,024
HER 18,096,424 x 62.1% — 5,903 11,231,976
HEAER 19,078,024 + 11,231,976 30, 310, 000
E &R 1,931,800 + 19,318 1,951,118
EEAGE 1,931,800
EEEE 19, 318
T DR 1,931,800 x 53.85% ( 35% + (1 — 35%) ) 1,040, 274
EHRIE 1,951,118 + 1,040, 274 2,991,392
—REEEZS 2,991,392 x 53.85% (35% =~ (1 — 36%) ) — 2 256 1,608, 608
AERER 2,991,392 + 1,608, 608 4,600, 000
e T 30,310,000 + 4, 600, 000 34,910, 000
HBEREHELE 34,910,000 x 10.00% 3,491,000
HEEHE 34,910,000 + 3,491,000 38, 401, 000




BEERRE BN B RIR QB HTE

% [ Bg - KT B % B B i * # wmE

EZAEE 21,029, 142
RERE 21,029, 142
BERA 21,029, 142
REE 436, 009
REE 436, 009
1 REER 1.00 271,235 271,235

=
2 HMER QEESY) 1.00 164,774 164,774

=
REEMAE 6, 609, 077
FiGHE (BEER 775,170
3 RIRRZE (BREE) 495. 00 1,566 175,170

m
BISHE (RIGRE) 2,051, 398
4 EHRE GRIAD) 24.00 43,517 1,044, 408

R

5 FHRLEH 1.00 361, 390 361, 390

=
6 DHTHER 1.00 645, 600 645, 600

=
f17%& - EXEWRE 775,170
1 145%& - EEAYRE 495. 00 1,566 175,170

m




BEERRE BN B RIR QB HTE
% # i R B ¥ & f & @ i

ROVERE (R1. 176 - EEEW) 3,007, 339

8 ROViEERT R b 1.00 472, 639 472,639
ey

9 ROVERZE 2,380.00 1,065 2,534,700

m

KEHRE 8,910, 338

KERE KERERA) 995, 200

10 KEHE CKERERA 20.00 49,760 995, 200
5

KEHE OKE SRR 5,807,772

1 KERERSRRE 18.00 82,1217 1,478, 286
5

12 KEREHSFRE 18.00 82,1217 1,478, 286
5

13 BRFEEN KERERHS 1.00 2,851,200 2, 851, 200
ey

KERE RERRE) 1,733, 566

14 KERE (RIRSFE) 16.00 64, 761 1,036,176
5

15 B RLERK 1.00 361, 390 361, 390
%

16 S HTadER 1.00 336, 000 336, 000
ey

i - |WE 373, 800

17 BT 1.00 96, 600 96, 600




BEERRE BN B RIR QB HTE
% # 5K - IRk By 8 ff # =

18 thfER & 3.00 69, 300 207,900

B
19 &R#®E 1.00 69, 300 69, 300

B
ST 1,270, 378
ST 1,270, 378
20 5> A e 1.00 810, 222 810, 222

ey
21 BIREBHARIER 1.00 460, 156 460, 156

Y
bEXY)] 680, 740
£ BEREEER 680, 740
20 BEBER BH7 - EEAT) 1.00 680, 740 680, 740

ey
EEEE 3,122, 600
TEXE 2,910, 600
23 ZEEHRMR 1.00 2,910, 600 2,910, 600

ey
B2 170, 000
24 EHBRES 1.00 170, 000 170, 000

Y
EIRERE 42,000
25 T RERE 1.00 42,000 42,000

ey




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

51
2 AEER 1KY
2 o g - BIRTE By = =i} %8 W= " =
RIS EFHEm
A 1.00 54, 600. 00 54, 600
B EHER
A 3.00 47,100. 00 141, 300
B E A
A 1.50 36, 900. 00 55, 350
RIEBF
A 0.50 34, 600. 00 17, 300
AN 2H0%
% 1.00 268, 550. 00 2,685
& b 1EZRER : 1,00 271, 235. 00 271,235
52
B BMERR QEESY) 1KY
2 £ g - BIRTE By = =i} %8 W= " =
REHENE
A 2.00 25,900. 00 51,800
K>y 2tiE
B 4.50 24, 743.00 111,343 4. 70H / 8H
A 2H0%
% 1.00 163, 143. 00 1, 631
& b 1EZRER : 1.00 164, 774. 00 164, 774




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

&5 :3
&% BHIE (BRRE) TB=Y (230m)
% # - kA Bf & E @ = W %

REE F4 bV 2

H 1.00 3,315.00 3,315/2. 00H / 8H
REM FRP D 70PS#! 3.0t

H 1.00 75, 932. 00 75,932|8H
AR E R

A 1.00 54, 600. 00 54, 600
R

A 1.00 47,100. 00 47,100
MEEA

A 1.00 36, 900. 00 36, 900
HKE(FA13-) 10mK 575

A 1.00 52, 200. 00 52,200
HAKLHBIE (51 /) 10msk i

A 1.00 52, 200. 00 52,200
tEY R

A 1.00 31, 000. 00 31,000
A E Yo}

% 2.00 353, 247.00 1,064
& F YE%HE7 : 230.00m 1, 566. 00 360, 311




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

54
&% . BHAE RIAEE) 1TBHY (THhsm)
2 o g - BIRTE By = =i} %8 W= " =
B EHER
A 1.00 47,100. 00 47,100
B E A
A 1.00 36, 900. 00 36, 900
BKE(FA3—) 10mk 78
A 1.00 52, 200. 00 52,200
BKTHWEE (A4 /3—) 10mK %
A 1.00 52, 200. 00 52,200
rt@my g
A 1.00 31, 000. 00 31,000
REE >4 kN2 2
B 1.00 3,315.00 3,315/2.00H / 8H
Ry FRP D 70PSZ!
B 1.00 75, 932. 00 75,932 8H
AN 2{KD%
% 2.00 298, 647. 00 5,972
& b YE¥HEH  7.0040 5 43,517.00 304, 619
F5:5
27 ARERR 1KY
2 £ g - BIRTE By = =i} %8 W= " =
B E A
A 9.00 36, 900. 00 332, 100
REE >4 kN2 2
B 4.50 6, 509. 00 29,290/6.00H / 8H
& b 1EZRER - 1.00 361, 390. 00 361, 390
F5:6
B HHTEER 1KY
2 £ g - BIRTE By = =i} %8 W= " =
S HTEER EEOEHE, BRHOEBEEEDONT
B®IK 24.00 26, 900. 00 645, 600
& it 1EZRER - 1.00 645, 600. 00 645, 600




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

&#5:7
B 15 - BEEMAE 1THHY (230m)
% 7 L - IRTiE BT = =i ] %5 = " =

REE 54 kY 2L

B 1.00 3,315.00 3,315/2.00H / 8H
AEMm FRP D 70PSZ! 3.0t

B 1.00 75, 932.00 75,932 8H
B2 EEBEm

A 1.00 54, 600. 00 54, 600
Bl HEm

A 1.00 47,100. 00 47,100
B EHEnE

A 1.00 36, 900. 00 36, 900
BKE(FA/3—) 10mK %

A 1.00 52, 200. 00 52,200
BKTHEE (A4 /13—) 10mR 578

A 1.00 52, 200. 00 52,200
rtmEYE

A 1.00 31, 000. 00 31,000
HME 2{KD%

% 2.00 353, 247. 00 7,064
& b YE%8EH : 230.00m 1, 566. 00 360, 311




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

F5:8
&% : ROViESEET R + 1RXHY
& 7 L - IRTiE BAf = il %5 = & &
B S HAm
A 1.00 47,100. 00 47,100
B S AmE
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
REE >4 kN2 2L
B 1.00 3,315.00 3,315/2.00H / 8H
£ FRP D 70PSZE!
B 1.00 75, 932.00 75,932 8H
GNSSRIfI = E DGNSS
B 1.00 25,575.00 25,575
ROV
B 1.00 206, 250. 00 206, 250
HME EXZNOY
% 10. 00 429, 672. 00 42,967
& b 1EZRER - 1.00 472, 639. 00 472, 639




RAER - B L/ X7 — B E R EEIE

F5:9
2% : ROVE&E mz Y (500m)
& 7 L - IRTiE BAf #H = B @ & # = & &
IS EEHEm
A 1.00 54, 600. 00 54, 600
B S HEm
A 1.00 47,100. 00 47,100
B S FAmE
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
REE >4 kN2 2
B 1.00 3,315.00 3,315/2.00H / 8H
£ FRP D 70PSZ!
B 1.00 75, 932. 00 75,932 8H
GNSSRIfI & DGNSS
B 1.00 25,575.00 25,575
ROV
B 1.00 206, 250. 00 206, 250
HME EXZNOY
% 10. 00 484,272. 00 48,4217
& b {EZ8EA : 500. 00m 1,065. 00 532, 699




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

&S5 :10
B KERE OKEREEED B Y (6Hh)
2 L7 g - BIRTE By = =i} ) W= " =
B FEHE
A 1.00 54, 600. 00 54, 600
B EHER
A 1.00 47,100. 00 47,100
B E A
A 1.00 36, 900. 00 36, 900
REBF
A 1.00 34, 600. 00 34, 600
REE >4 kN2 2
B 1.00 3,315.00 3,315/2.00H / 8H
£ FRP D 70PSZ!
B 1.00 75, 932. 00 75,932 8H
KEFEHS ZIEHKE
B 1.00 18, 975. 00 18,975
AN 2H0%
% 10. 00 271,422.00 217,142
& b 1EZREA : 6. 00t 49, 760. 00 298, 564
&S 11
2% . KEREHFRE 1B3Y Aihm)
2 L7 g - BIRTE By = =i} ) W= " =
REE >4 kN2 2
B 1.00 3,315.00 3,315/2.00H / 8H
£ FRP D 70PSZ!
B 1.00 75, 932. 00 75,932 8H
B EHER
A 1.00 47,100. 00 47,100
B E A
A 1.00 36, 900. 00 36, 900
BKE(FA3—) 10mk 78
A 1.00 52, 200. 00 52,200
BKTHEE (A4 /3—) 10mK %
A 1.00 52, 200. 00 52,200
rt@\y g
A 1.00 31, 000. 00 31,000
A 2H0%
% 10. 00 298, 647. 00 29, 864
& b EZREA : 4. 00t 82,127.00 328, 511




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

‘512
L KEAERBERE 1B3Y @hm)
2 L7 g - BIRTE By = =i} ) W= " =
REE >4 kN2 2L
B 1.00 3,315.00 3,315/2.00H / 8H
Ry FRP D 70PSZ!
B 1.00 75, 932.00 75,932 8H
B EHER
A 1.00 47,100. 00 47,100
I E A
A 1.00 36, 900. 00 36, 900
BKE(FA/3—) 10mk 78
A 1.00 52, 200. 00 52,200
BKTHEE (A4 /3—) 10mK %
A 1.00 52, 200. 00 52,200
rt@myg
A 1.00 31, 000. 00 31,000
AN 2H0%
% 10. 00 298, 647. 00 29, 864
& b YEZREA : 4. 00t 82,127.00 328, 511
&S :13
2% . SRREEN KERTHESE 1KY
2 L7 g - BIRTE By = =i} ) W= " =
HAREEN
= 1.00 2,851, 200. 00 2,851, 200
& it 1EZRER : 1.00 2,851, 200. 00 2,851, 200




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

&S5 14
& KERE GRIAE) 1THHY (6ihm)
2 o g - BIRTE By = =i} %8 W= " =
RIS EFHEm
A 1.00 54, 600. 00 54, 600
B EHER
A 1.00 47,100. 00 47,100
B E A
A 1.00 36, 900. 00 36, 900
B (FA/13—) 10mk i
A 1.00 52, 200. 00 52,200
BKTWEE (A4 /3—) 10mK %
A 1.00 52, 200. 00 52,200
rt@my g
A 1.00 31, 000. 00 31,000
REE >4 kN2 2L
B 1.00 3,315.00 3,315/2.00H / 8H
R FRP D 70PSZE!
B 1.00 75, 932. 00 75,932 8H
AN 2H0%
% 10. 00 353, 247. 00 35, 324
& b YE¥HEH : 6.00Hh 5 64, 761. 00 388, 571
515
27 - ARERR 1KY
2 £ g - BIRTE By = =i} %8 W= " =
B E A
A 9.00 36, 900. 00 332, 100
REE >4 kN2 2
B 4.50 6, 509. 00 29,290/6.00H / 8H
& b 1EZRER : 1.00 361, 390. 00 361, 390
&5 16
B HHTEER 1XEY
2 £ g - BIRTE By = =i} %8 W= " =
D HTEER FEERE
B®IK 16. 00 21,000. 00 336, 000
& it 1EZREA - 1.00 336, 000. 00 336, 000




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

&5 .17
2 . BATHE HEED
2 L7 g - BIRTE By = {i ) " =
B FEHE
A 1.00 54, 600. 00 54, 600
B EHER
A 0.50 47,100. 00 23, 550
B E A
A 0.50 36, 900. 00 18, 450
& it YE%8EH 1. 00[E 96, 600. 00 96, 600
%518
AF : RS 1EHY
2 L7 g - BIRTE By = {i ) " =
B FEHE
A 0.50 54, 600. 00 217,300
B EHER
A 0.50 47,100. 00 23, 550
B E A
A 0.50 36, 900. 00 18, 450
& it YE%8EH 1. 00[E 69, 300. 00 69, 300
&S5 19
B mRRBRE HEED
2 L7 g - BIRTE By = {i ) " =
B FEHE
A 0.50 54, 600. 00 217,300
B EHER
A 0.50 47,100. 00 23, 550
B E A
A 0.50 36, 900. 00 18, 450
& it YE%8EH 1. 00[E 69, 300. 00 69, 300

10




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

S :20
B FR - AT ETATE
% 7 L - IRTiE BT = =i ] %5 = " =

EX: T TC D)

A 2.00 64, 800. 00 129, 600
A (A)

A 3.00 57, 000. 00 171,000
A (B)

A 3.00 47, 200. 00 141, 600
HEm (C)

A 5.00 38, 400. 00 192, 000
Hftt &

A 5.00 33, 600. 00 168, 000
EHRRARE EEAGEDY

% 1.00 802, 200. 00 8,022
& &t E%4EH : 1.00=K 810, 222. 00 810, 222
&BE 21
& ERESRAERER

% 7 L - IRTiE BT = =i ] %5 = " =

EX T TC D)

A 1.00 64, 800. 00 64, 800
A (A)

A 2.00 57, 000. 00 114, 000
A (B)

A 2.00 47, 200. 00 94, 400
HEm (C)

A 3.00 38, 400. 00 115, 200
Hftt &

A 2.00 33, 600. 00 67, 200
EHRRARE EEAGEDY

% 1.00 455, 600. 00 4,556
& i E%4EH : 1.00=K 460, 156. 00 460, 156

11




RiEFR-FET/\vr—2

BB BRI RIE QB ERE

E5: .22
B MESER (BT - BRED) 1KY
2 o g - BIRTE By = =i} %8 W= " =
F1EBAR GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 2.00 57, 000. 00 114, 000
HER (B)
A 5.00 47, 200. 00 236, 000
HEf (C)
A 5.00 38, 400. 00 192, 000
Hti&
A 2.00 33, 600. 00 67,200
EHARE EEAMEDY
% 1.00 674, 000. 00 6, 740
& it 1EZRER : 1.00 680, 740. 00 680, 740
&5
B REERM 1KY
2 £ g - BIRTE By = =i} %8 W= " =
TEERmR FRP D 180PS%!
B 20.00 144, 806. 00 2,896,120/6.00H / 8H
A 2KDY%
% 0.50 2,896, 120. 00 14, 480
& b 1EZRER : 1.00 2,910, 600. 00 2,910, 600
BS54
B EBBERR 1KY
2 £ g - BIRTE By = =i} %8 W= " =
EBHRERE
= 1.00 170, 000. 00 170, 000
& it 1EZRER : 1.00 170, 000. 00 170, 000

12




Rifiz -/ \v7r—o

BENEBRIRIZQRERE

&S5 :2
&F  ELERERE 1RXHY
& 7 L - IRTiE BAf #H = B @ £ = & &
HEIERERE EA)UTHRE GREEYAE)
I 1.00 42,000. 00 42,000
& B 1E%8EH : 1.00= 42,000. 00 42,000

13




ETGiE BEHN BB RIEQOBRERE
BERES |
BifiR&#: Fovy 2t 1B%Y 4.70H / 8H
£ # itk - kR B N B i @ # =
il
L 20.00 131.00 2,620
EEF (— )
A 1.00 18, 100. 00 18,100
B (F5 vy [EER]) 217
B 4.70 248.00 1,165 PN ]
B (FS vy [EER]) 217
=] 1.13 2,530.00 2,858 #AAR
& H) 24,743
BERES 2
HEREH  EE 4 b 2L 1B24Y 2.00H / 8H
£ # itk - kR B i B i @ # =
Ay
L 6.00 156. 50 939
BE (54 RV [ZHES]) REEESE HRE2 0L
B 2.00 290. 00 580 PNl
BE (54 RV [ZHES]) REEESE HRE2 0L
=] 1.19 1,510. 00 1,796 #AAR
= H) 3,315




Rl kS R L e T
BERES 3
BERAT - WM FRP D T0PSH 3 0t -
2 # i - BT F7 o 8 @ @ m = # %
A
L 44.00 117.00 5,148
B
A 1.20 28, 900. 00 34,680 8=1.20
¥ GERMFRPRL) D 70PSE 3061
=] 1.00 3, 200. 00 3,200 PEE TS
¥ R FRPRL) D 70PSE 3061
=] 1.65 3, 350. 00 5,527 a=1.65 #tAA
nEERH
% 25. 36 48, 555. 00 12,313
—pEeH
% 24.75 60, 868. 00 15, 064
a &t 75,932
BERES 4
2 # i - BT 7 o 8 @ @ m = # %
A
L 44.00 117.00 5,148
B
A 1.20 28, 900. 00 34,680 8=1.20
¥ GERMFRPRL) D 70PSE 3061
=] 1.00 3, 200. 00 3,200 PEE TS
¥ GERMFRPRL) D 70PSE 3061
=] 1.65 3, 350. 00 5,527 a=1.65 #tAA
nEERH
% 25. 36 48, 555. 00 12,313
—pEeH
% 24.75 60, 868. 00 15, 064
a &t 75,932




BifE BB SRR RS RE
BHEES : 5
BERAH : SBE 54 A 2L 1B24Y 6.00H / 8H
% # 1tk - R TA B 5 B @ = =
Ay
L 19. 00 156. 50 2,973
BE (51 FAY[CHER) REEESE HEE20
B 6.00 290. 00 1,740 PNl
BE (54 FAY[CHER) REEESE HEE20
=] 1.19 1,510. 00 1,796 #AA
= it 6, 509
BHEES : 6
BifiR&% : ®EE®RM FRP D 180PSE! 1B%Y 6.00H / 8H
% # 1tk - R TA B 5 B & = =
A
L 37.00 117.00 4,329
BRmE
A 1.20 28, 900. 00 34,680 8=1.20
HEME
A 1.20 23, 300. 00 27,960 8=1.20
B (BEM[FRPH]) D 180PS& 10.0GT
=] 1.00 9, 390. 00 9,390 PEE TS
B8 (& [FRPEL]) D 180PSZE! 10.0GT
=] 1. 65 9, 840. 00 16,236 a=1.65 #AA
HBEER
% 25.36 92, 595. 00 23,482
—REEE
% 24.75 116, 077. 00 28,729
= it 144, 806




